2SEM M3A UNIT 3 QUIZ

1. What is the vertical asymptote of the following function?

T+ 2
fle) = ——
£Xr — 0
2. What is the greatest common denominator of the fractions below?
1 1
x? b

3. Simplify the following expression.

- 9.
2 4+x—6
4. Solve the following equation?
1 2
— 4+ —=2
r 3

5. What is the domain for the following function?

f@) =4+ Vr—5

6. What is the point of symmetry of the following cubic function?

3
flx)=5—-vVzxr -9
7. Write the following expression in radical form.
2
s
8. Write the following expression in exponent (rational) form.

v 17232

9. Simplify the following expression.
3/ I?D yBD

10. Solve the following equation.

24++vVor—4=6
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Answer Key
1. r =25
> 5’
Tr—3
3. r—2
3
T = —
4 4
5. (5*0{3)
6. (9"5)
7. 5V a2
g 17128



